
SAP ABAP table T030H {Acct Determ.for Open Item Exch.Rate Differences}

T030H

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

HKONT [CHAR (10)]

WAERS [CUKY (5)]

CURTP [CHAR (2)]

LKORR [CHAR (10)]

LSREA [CHAR (10)]

LHREA [CHAR (10)]

LSTRA [CHAR (10)]

LHTRA [CHAR (10)]

LSBEW [CHAR (10)]

LHBEW [CHAR (10)]

LSTRV [CHAR (10)]

LHTRV [CHAR (10)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 T030H-HKONT = SKA1-SAKNR 

0..N

1

 T030H-LHBEW = SKA1-SAKNR 

0..N

{0,1}  T030H-LHREA = SKA1-SAKNR 

0..N
{0,1}  T030H-LHTRA = SKA1-SAKNR 

0..N{0,1}
 T030H-LHTRV = SKA1-SAKNR 

0..N

{0,1}  T030H-LKORR = SKA1-SAKNR 0..N

{0,1}  T030H-LSBEW = SKA1-SAKNR 0..N

{0,1}
 T030H-LSREA = SKA1-SAKNR 

0..N

{0,1}

 T030H-LSTRA = SKA1-SAKNR 

0..N

{0,1}

 T030H-LSTRV = SKA1-SAKNR 

0..N

{0,1}

T000

MANDT [CLNT (3)]
 T030H-MANDT = T000-MANDT 

0..N

1

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

 T030H-KTOPL = T004-KTOPL 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 T030H-WAERS = TCURC-WAERS 

0..N

1


